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A knot diagranﬂ Cig2 €5 Ci1 C Cio €4 Cg C3 (1
Ideals for irreducible componentfbf Xpar

I = (w? — P 4 —u? - 1)

* 1 irreducible components of dim¢ = 0, with total 52 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI=(u?—ul+... —u?—1)

(i) Arc colorings

e ()

o= ( )
u
ud +u
24
(u + 2u? )
ud + 2u
w4+ 3u +u
ut —I— 3u?+1
u? + 2u?
u? + 6u” + 11u® + 6u® + u
a4 = 9+5u +7u +2ut +u
—u 30u10 45u® — 30ub — Su* + 2u? + 1
ag = — 23ut0 — 2848 — 148 — 4u* + u?
—ul 12u17 44 11u 4 2u
asz = — 11"+ 33+ u
u38 +23u0 22+ 1
a2 = \ 38 422030 + ... 4 6u* 4+ u?
u?? +13u?0 + - — 15ut + 1
as = \u?* + 14022 + ... — 30u® — 10u*
(ii) Obstruction class = —1
(iii) Cusp Shapes = 4u’! —4u°° + ... —12u — 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C8 W+ 190+ —2u+ 1
Ca,C7 W —2u—1
C3,C4, Cy W -+ —8u—4
Cs5,C6, C11 u527u51+~~—u2—1
C12
c10 ub? — 17wt 4 - — 261920 + 2993




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1,8 P2 +29° . 418y + 1
C2, C7 Y =19y 2y 41
€3, €4, Co y*? — 55y°t .. — 184y + 16
€5, C6, C11 Y52 L 61y 2y 1
C12
c10 y°? — 31y°t + .. — 170476614y + 8958049




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + v/=1C)

Cusp shape

u= 0417129 4 0.8336831

—6.57030 — 3.294911

—10.38217 4 1.009241

= 0417129 — 0.8336831

—6.57030 + 3.294911

—10.38217 — 1.009241

u = 0.447855 4 0.8174641

—10.54530 + 3.627541

—13.7524 — 4.10821

u= 0.447855 — 0.8174641

—10.54530 — 3.627541

—13.7524 4 4.10821

= 0.468982 + 0.7959691

—6.17965 + 10.493101

—9.45880 — 8.856921

u= 0.468982 — 0.7959691

—6.17965 — 10.493101

—9.45880 + 8.856921

u = —0.415985 + 0.8141091

—4.96278 — 2.012331

—8.04647 + 3.923041

u = —0.415985 — 0.8141091

—4.96278 4 2.012331

—8.04647 — 3.923041

u = —0.456551 + 0.7901701

—4.67136 — 5.010951

—7.40961 + 4.347241

u = —0.456551 — 0.7901701

—4.67136 + 5.010957

—7.40961 — 4.347241

u = —0.307728 4 0.6739021

—3.04997 — 2.380501

—13.2356 + 6.53961

u = —0.307728 — 0.6739021

—3.04997 + 2.380501

—13.2356 — 6.53961

u = —0.431177 4 0.5959401

1.33174 — 6.672911

—4.55025 + 10.190571

u = —0.431177 — 0.5959401

1.33174 + 6.672911

—4.55025 — 10.190571

u = —0.075469 + 0.7258811

—0.97753 4 2.215121

—11.08908 — 2.699561

u = —0.075469 — 0.7258811

—0.97753 — 2.215121

—11.08908 +- 2.699561

u=0.417591 + 0.5579991

1.94823 + 1.388001

—2.50449 — 4.640361

= 0.417591 — 0.5579991

1.94823 — 1.388001

—2.50449 + 4.640361

= 0.636854

—8.09348

—9.74010

u= 0.633274 4 0.0389571

—3.92657 — 6.792041

—5.72913 + 4.818581

u= 0.633274 — 0.0389571

—3.92657 + 6.792041

—5.72913 — 4.818581

u = —0.614460 + 0.0314641

—2.42291 + 1.411781

—3.50849 — 0.144541

u = —0.614460 — 0.0314641

—2.42291 — 1.411781

—3.50849 + 0.144541

u= 0.241452 + 0.4919841

—0.158403 + 0.9708281

—3.16514 — 6.896931

u=0.241452 — 0.4919841

—0.158403 — 0.9708281

—3.16514 + 6.896931

u= 0435224 + 0.3112441

2.64348 4 1.665921

0.51705 — 3.908381

u= 0.435224 —0.3112447]

2.64348 — 1.665921

0.51705 + 3.908381

u = —0.459005 + 0.2590051

2.28374 + 3.522431

—0.68639 — 3.074191

u = —0.459005 — 0.2590051

2.28374 — 3.522431

—0.68639 + 3.074191

u = 0.01062 + 1.504221

—3.13178 + 2.703551

0




Solutions to I} V—=1(vol +/—=1CS) Cusp shape
u = 0.01062 — 1.504227 —3.13178 — 2.703551 0
= 0.09297 + 1.558501 —5.18614 + 3.135381 0
= 0.09297 — 1.558501 —5.18614 — 3.135381 0
u = —0.10423 + 1.566951 —5.96476 — 8.556361 0
u = —0.10423 — 1.566951 —5.96476 + 8.556361 0
u = 0.04555 4 1.570781 —7.31168 4 1.864341 0
u = 0.04555 — 1.570781 —7.31168 — 1.864341 0
u = —0.07403 + 1.598171 —10.82600 — 3.741211 0
u = —0.07403 — 1.598171 —10.82600 + 3.741211 0
u = —0.02520 + 1.605591 —8.95532 4 1.811461 0
u = —0.02520 — 1.605597 —8.95532 — 1.811461 0
u = —0.386669 —1.22216 —7.16550
u = —0.13033 + 1.636021 —12.9782 — 7.24121 0
u = —0.13033 — 1.636027 —12.9782 4 7.24121 0
u = 0.13423 4 1.638341 —14.5123 4+ 12.78921 0
u = 0.13423 — 1.638341 —14.5123 — 12.78921 0
u = —0.11630 + 1.640911 —13.39160 — 4.037461 0
u = —0.11630 — 1.640911 —13.39160 + 4.037461 0
= 0.12590 + 1.644411 —18.9946 + 5.81561 0
= 0.12590 — 1.644411 —18.9946 — 5.81561 0
= 0.11458 4+ 1.647041 —15.1010 — 1.27101 0
uw= 0.11458 — 1.647041 —15.1010 + 1.27101 0




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,C8 P 1905 - —2u+ 1
ca, C7 u? Ut 20— 1
c3,Cq, Cg w2l —8u—4
Cs5,Ce, C11 L2 e R |
C12
an u’? — 170’ 4 - -+ — 26192u + 2993




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,C8 y*2 +29° + .+ 18y + 1
C2,C7 Y2 =19 2y 1
€3,C45Co y*? — 55y°t + .- — 184y + 16
C5,C6; C11 yP2 +61y° 4o 2yt 1
C12
c10 y°? — 31y°t + .. — 170476614y + 8958049




